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About a third of the bee population dies every year. [& sz 20| o 380| 1 He7} ojd S&ch
Half of the money was stolen. £9| Yo| =SAgCE
20 percent of the students skip breakfast. st E0l 20 MEY} oA g HECL
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Tom studying math.
Amy and Paul studying English.
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Half of the apple (is/ are) rotten.

70 percent of the children (like/ likes) pizza.
Three-fifths of the students (speak/ speaks) French.
One-third of the pie (was/ were) ____ eaten by Mike.
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Honey from ancient Egypt can be eaten today. ICf O|EE mjo 22 2s5H0E HE + QUCH
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This homework must be finished by tomorrow.

The hero will be remembered forever.
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This box can be sent by Amy.
This box must be sent by Amy.
This box will be sent by Amy.
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The island cannot (see/ be seen) from here.

Check Up
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1. Danny and Jake (is / are) good friends.

2. 30 percent of the milk (is / are) left.

3. A quarter of the eggs (was / were) cooked.
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1. The milk by March 3rd. (sold, should, be)
2. These trees by us. (planted, be, can)

3. This movie by many teens. (will, loved, be)
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